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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions :
1x10=10
oIS 2PERIRS Bed frdl ¢

(@) Define a null matrix.
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d : . ;
(b) Ex—(log ) e G : 1. .,(g) What is the value of 10C; ?

(Fill up the blank) (| : 10C, 3 9 o2
(Tt 212 259 1) |
LI (h) Fill in the blank :
(c) Evaluate (I = +91) :

X | | AT 3% o9t 1 ¢
_E :lc-dx : ' i(TP) :
_ : | dx |
d) If@m) f(x)= x2 —3x + 5, find the value where x denotes the volume of output.
of £(0), (c3TT £(0) W F ) &\ TS x-9 Teslfirs AR @RI
fe)}, Evaluate GI(HR =D : rlet () Pl thelp i

| " feT 9i2 ofer 8

The variables associated with linear

=) (D)
(@) W S )

1
2
3

programming problems are called

() Find the cofactor of -1 in the following

determinant : | =R el wore Gio® baTe TR
o e —1 9 A [ w4t 8 /10 | _
1 -2 3 | _
: () Defi s
DRSBTS | , ine a sinking fUQd_
e el | GBI I AT el |
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2. Answer the following questions : 2x5=10

e O (G SC RO M o L

(a) Write two differences between matrix

and determinant.

e % Refaiea Sies 7o Aidky B

(b) Evaluate (@ ==11) :

Al sl
im ———
x-—>0. X

| -5 4 &

find (Fef 1) 24~ 3B

(d) In what time will 2 1,250 amount to
% 1,400 at 6% p.a.?

R R I¥S 6% T J99 1,250 5
sRfeT 1,400 B0l a7
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(¢) Find 10™ term of the following series :

OSSR (HTICO WIS <ol =l 8

-------------

3. Answer the following questions : (any four)

5x4=20
TS fepice bifsb; o Tes W

(@) Show that (€A @)

—a? ab ac '
. ab -b? bc|=4a?b2c?
ac bc -c?

(b) If (3IM) A = E ﬂ , show that ((73€3 @)

d

A2 -3I=2A.

(c) A man saved Rs. 16,500 in ten years.
In each year after the first he saved
Rs. 100 more than he did in the

preceding year. How much did he save
in the first year ?
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(@)

GG 2 72 TTS '16,500 BBl A R |
212 e PR A0 TeTe (9¢ Il IIOCP
100 531 &R % SR | MRe a2 219
I Ol A% S Re 2

Find sum to n terms of the following

series :
S (RTIOR ow 2nee @aiwe Fef 54 ¢

4+44 +444 + .............

(f) A person borrows Rs. 20,000 at 4%

compound interest and agrees to pay
both the principal and interest in 10
equal annual instalments at the end of
each year. Find the value of each
instalment. Given (1-04)-10=0-6761.

GG R TBE 4% b 2 Ho©

Rs. 20,000 4NG e S Pk S F©
20 (10) 7P Tl e et Rt |
2iforht TN (o o [T 273 fda 591
w1 e (1:04)710 = 0-6761.

A (ﬁﬁ‘r) f(x)= i;i , prove that Answer any four from the following :

(e 4 @) TS Rl SRR Rl BIiAsT 2 B TRl
( 1= xJ ' 4. (a) Solve the following system of equation
fl S 3 - ; :
\1+x by Cramer’s rule : 5

| N B S TS e M S T e 2 e
(i) Find (Fefa =) : -

, 226 HYERizi=—
2 Bhe = =)

dy
s BERRAY] = S

— if (@W) y = xlogx
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(b) Evaluate (I Refg =) : 2
1 2] |-4 -1
3 4‘ ZANES
(c) Construct a 3 x 2 matrix such that
Gl 3 x 2 G 915 91 AR AE

21

a: =
1+ ]

g

5. (a) If x, y, z be the pth, gt" and rth term
respectively of an A.P., then prove that

x(q-r)+y(r-p)+2z(p-q)=0.
5

I x, y, z FAAE G FACGE ETF poT,
gSH W% rO A W, ANl [ (@

x(q-r)+y(r-p)+z(p-q)=0.

(b) Find the inverse of the following matrix :
S

O GNEeRee Afer SEedl ¢

die O
A=|2 -1 3
S e &
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(@)

(b)

(e

A machine depreciates every year at
the rate of 10% of its previous value
and at the end of 4 years its value was
Rs. 1,31,220. Find its original value.
5

&ifS TS bl TFS T TFOI S0IE ITS TEOCE
10% T¢I S 4 I299 O 2219360 1,31,220
531 27 | TFOR S g5 e 4

Find x, y, z and ¢, if

.xﬁ, ), z O t9 N [l o9 W

3

[ x y-| Wse @l e
= -
1z x| =l 2 ey 3 _;

S

A shdpkeeper purchases 50 dozen eggs

at 40 per dozen. Of these 40 eggs are
found to be broken. At what price
should he sell the remaining eggs to
make a profit of 5% ? )
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(b)

(@)

GG (WP 2T T& 40 Tl fZps 50 Tew
4] e, O Tose 406 F91 @@ S5 |
(O8 T 4 FNET 2fS Toe BT [arl
FRET (9€9 5% #e 292

If 2 men and 5 boys can do half a
piece of work in 5 days and 3 men 4
boyé can do one-third of it in 3 days,
then how many days will 9 men take

to finish it? ; i 5

7. G5! FINS gl BRH 2T WG AF 55
T 5 TS OIF IR GTPORIH 3T
TR O 4G w92 3 e o[ IR A,
(0% G Wz N e G FE o
R e '

The difference between simple and
compound interest on a certain sum of
money for 3 years at 5% p.a. is
2213.50. Find the principal, simple

interest and compound interest. S
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(b)

(I B! T 8oise =¥ 5% AW 3 I=T|
FE TS Ol bagia o9 “NiLEy 213.50 G
itﬁaﬂaﬂ,ﬂaﬁﬁwwmﬁvfﬁﬁcﬁW1

A company is considering which of the
three methods of production it should
use in producing three goods A, B and
C. The amount of each good produced
by each method is shown in the

following matrix :

A
Method 1 <
Method 2 [ S
Method 3 L S

w = o g
WG =8 ol (o)

The column matrix [10 4 6] represents
the profit per unit for A, B and C in
that order. Using matrix multiplication,
find which mpthod maximizes total

profit. S
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9ol @I SRRy WS A, B @i C
AT IR A (OO > ot 2ot
Al FlR 92 R Reont w7 ez | 2!
2T @Il Ceeite 11 eifofiy AR w2y
O GRS (€] 002 3

ABEGE
gaeil 4 g 21
g9Ei 2 (5 7 1
gaEi 3 S 3 9J

TE GNee= [10 4 6] QAN A, BEIF CS
A4S GFT o[ (R AT ARTERE JSI20R
CTIFR= 2[319 2RO (HIID! 2] Aol SR
S FiaE 73 e 401

Find the differential coefficient of \/x
using first principle. 5
oE G AR TR [x I TR @dliiE [

<40 |
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) 1l
(b) Show that the maximum value of X+ 3
is less than its minimum value. | S
, - 1
(e @ X+ — 3 i T 3R D AT
< |
10. (@) Find (i) average profit function, and .
(i) marginal profit function for the .
following total profit function (P) :
P=02-12Q+50
Evaluate them at Q= 5. 5
Oed P NS T (P) AATT (i) SIS oS T,
i (1) @i e Foiw Sferedl
P=0Q2-120+50
Q=5 T T Ale WF s wdAed #ARE
e = |
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(b) The marginal cost (MC) of a product is ‘ (b) State. four uses of LPP in Business.

MC = 3x+ 4, where x denotes output | : 4
- and the fixed cost (FC) is known to be e @RS dewes 5ifke! e SR 34|

10 units. Find the total and average :

cost functions. ‘ 5

&ﬁamﬁﬂaaﬁ%@wmc 3x+4masﬁvg
I (FC) T 10 G| x 9 TeoAve ANIR
G AT IR0 | Y T Tl SN 518
Tol el < |

FlSa)Selve” the followmg LPP by graphical
method : N 6

wed LPP (G (1R sfmfocs Al 31 ¢

Maximize (5@ S Fefa F=11) )
ZA PG ST |

subject to (9&F Fg AlCATF)

2x+y <1000

x <400

y <700
x,y=0
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